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1. 2p% + 40 = 18p
 Lg*=13q-42
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(b) TG p, q BT B

(©) T p, q PRI G Tl p 3R q F T B3 T T8l 5
(IR pT A qF RER AT q A TS|

(e) TS p AT q P SRR T IV BleT 2|
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I.p*+24=10p
Q2 11.2q* + 18 =12q

BREPRESE]

(b) T p, q A BT R

()Tl p, q P SRIER B TT p 3R q F AT Bl T+ gl g
(d) TR p AT A qF RISR AT q A TS|

() IR p WA q F R AT BleT ]|
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Lg*+q=2
2 10 =
03 Lp+7p+10=0

() I p, q A TSI R

(b) TfE p, A BT B

() Tfe p, q P RIS B TT p 3R q & A Bl T4 ol ¢
(d) TR p AT A qF RIR AT q A TS|

() T p AT q P NR AT ITA BT B |
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Lp*+16=8p
2 —
Q0 I1.4q% + 64 = 32q

(a) Al p, q A TSB!

(b) AT p, q A BT R

()Tl p, q P SRIER B TT p 3R q F AT Bl T~ a1 g
(d) TR p AT A qF RIER AT q A TS|

() T p AT q P TR AT IYY BT B |
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L2p*+12p+16=0
Qs I.2g° + 14q +24=0

(@) T p, g ATST &I

(b) A& p, A BTG

(©) T p, q P TR G Tl p 3R q F T B3 TG T8l 5
(TR pT A qF RER AT q A TSI

() T p AT q P NR AT ITA BleT B |
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.3x2 —13x+14 =0
0. 11 3y2 — 17y +22 =0
(@ dfdx>y

(b) fdxzy

() fdx<y

@A x<y

(e) Tl x = y A x 3R y & o7 PIg Jaie WG el fovam ot e 8.
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.2x24+9x+9=0
Q7. 1.4y* +9y +5=10
(@)Tfdx>y



(b) Tfdx=y

() Aax<y

() AEx<y

(e) TG x = y U x 3R y & &1 BTs Yoo WG a1 fba1 <1 qobal .
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Lx2—7x+12=0
o 11-2Y° — 19y + 44 =0

()M x>y

(b) Aldx =2y

() Afdx<y

@A x<y

(e) T x = y A x 3R y & o7 PIg Jaie WG el fovam ot T 8.
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Lx2—4x—12=0
Qg_ll.yz—Ey—ldr:D

(@ x>y
(b) Adx =2y
(c) dx<y

@A x<y
(e) TG x = y UTx 3R y & &1 s Jae WG 1 fa1 <1 Jopar g,
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1.3x% —22x + 40 =0
q10. 11.5y% — 21y +16 = 0

(@) Ffdx>y

(b)Adx =2y

(©Tax<y

(d)AEx<y

(e) M x = y A x 3R y & o1 PIg Jaie WG el fovam off Tehall 3.
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12x2-25x+72=0
2— —_ =
- 14y*-12y-27=0

(@) x>y

(b)Adxzy

(@fex<y

(@A x<y

(e) T x = y A x 3R y & T PIg Jaie WG el fovam ot Tl 3.
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18x%-26x+21=0
2 _
012, I110y* - 43y +28=0

(@) x>y

(b)aEx=y

(0 Aex<y

() AEx<y

(e) TG x = y U x 3R y & &1 I3 Yoo RITUT a1 fba1 <1 qoha 3.
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[x2-18x+65=0
2 _
013, I12y°-17y+35=0

()M x>y

(b)aEx=y

(T x<y

() AEx<y

(e) Tl x = y A x 3R y & oI PIg Yoo WG el fovam off Tehall 3.
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17x% —44x+ 45 =0
2 _
Qi 1y®+15y-100=0

(@) x>y
b)afdxzy



(©Tax<y

(@A x<y

(e) Tfe x = y A x 3R y & diT PIg Jaie WG el fovam ot Tehanl 3.
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I13x+7y=18
Q15. [I19x -2y =8

(@) afex>y

(b)Adx=2y

(©dfax<y

@A x<y

(e) T x = y A x 3R y & o7 PIg Jaie WG el fovam ot T 3.
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Solutions

S1. Ans.(b)
Lp?-9p+20=0
=p°-5p-4p+20=0

=(p-5)(p-4)=0
=p=54

I.g°-13g+42=0
=q’-6g-7q+42=0
=(q-6)(q-7)=0
=q=6,7

Sol.q}IJ

S2. Ans.(a)
Lp?-10p+24=0
= p -6p-4p+24=0
=(p-6)(p-4)=0
=p=6,4
I.g°-6g+9=0
=(q-3)%=0
=q=33

Sol. p>q



S3. Ans.(e)

Sol.

L.g°+gq-2=0
=q°+2q-q-2=0
=(q+2)(q-1)=0
=q=1,-2
ILp*+7p+10=0
=p>+5p+2p+10=0
=(p+2)(p+5)=0
=>p=-2,-5

qzp

S4. Ans.(c)

Sol.

Lp®-8p+16=0
= (p-4)°=0
=p=44
I.g’°-8gq+16=0
= (q-4)*=0
=q=4,4

q=p

S5. Ans.(c)

I.2p°+12p+ 16 =0
=p°+6p+8=0
=p=-4-2
ILg*+7q+12=0
=q°+4q+3q+12=0
=>q=-4,-3

No relation

Sol.

S6. Ans.(e)
[.3x* —13x+14=0
=3x—6x—T7x1+14=0
=(x—2)3x—-7)=0
=x = 2,;—
.3y — 17y +22=10
=3y’ —6y— 11y +22=0
=(y—-2)(3y—-11)=0
=y =2 u

y =24 3
Sol. No relation

S7. Ans.(c)



L2x24+9x+9=0
= 2x*+6x+3x+9=0
=2(x+3)(2x+3)=0

3
=x=-3-3
.4y +9y +5=10
= 4y° +4y+5y+5=0

=+ D4y +5)=0=y=-1,-1

V=X

Sol.

S8. Ans.(d)
Lx*—7x+12=0
=(x—3)x—4)=0
=x =34
.2y — 19y + 44 =10
=2y’ —8y— 11y +44 =10
=(y—4)(2y—-11)=0

11
=y = 4:?
=X
Sol. Y
S9. Ans.(e)
Lx?—4x—12=0
= x’—6x+2x—12=0
=2(x—6)(x+2)=0
=xr=6—2
Iy -5y —14=0
= yi—T7y+2y—14=0
= (-7 +2)=0
>y=7,-2
Sol. No relation
S10. Ans.(a)

.3x% —22x+40=10
=3x>—12x—10x+40=0
= (x—4)(3x—10)=0

10
==-x=4,?

II.5y* —21y+ 16 =10

= 5y’ —5y— 16y +16 =0
= (y— 1){5}?— 16)=0
=y = 1:%

X =
Sol. ¥



S11. Ans.(b)
1.2x% -25x+72=0
2x* - 16x-9x+72=0
2x(x-8)-9(x-8)=0

9
T{=B,:

IL4y* -12y-27=0
4v° + 6y - 18y -27=0
2y(2y+3)-9(2y+3)=0

-39

=733

Sol. X2y
S12. Ans.(e)

[.8x*-26x+21=0
Bx®-14x-12x+21=0
2x (4x-7)-3(4x-7)=0
7 3
=9
II. 10y* - 43y + 28=0
10y* -35y -8y +28=0
5y (2y-7)-4(2y-7) =0
7 4

y=2'5
Sol. No relation
S13. Ans.(b)

L x*-18x+65=0
X2 -13x-5x+65=0
x=13,5

II.2y* - 17y +35=0
2y*- 10y -7y +35=0
7
y=53

=
Sol. X2y

S14. Ans.(e)



l. 7x2—44x + 45 =0

7% —9x—35x+45=0

x(7x—9)—-5(7x—9)=0

x=9/7,5

Il. y*+15y-100 =0
y*+ 20y —5y-100=0
y =5,-20

No relation
Sol.

S15. Ans.(c)
(i) 3x+7y=18
(ii)9x-2y=8
Solving (i) and (ii)
x=4/3,y=2

>X
Sol. y



